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Class:10th

Time:12 min

Test:Physics

Attempt all.

1 A CD can store over of computer data.

(a) 17 megabyte (b) 17 gigabyte

(c) 680 gigbyte (d) 680 megabyte
2 1024 Kb are equal to:

(a) 1 KB (b) 1 MB

(c) 1 GB (d 1 mB

3 If CD is made of soft elastic material then it is
called:

(@) Floppy Disk (b)  metallic disc
(c) Hard Disk (d)  compound disc
* E-mail is:

(b) electronic mail
(d) none of these

(a) emergency mail
(c) urgent mail

> A device used to transport files one computer to
another.

(a) (b)
(c) (d)
6 A ordinary flopy disk can store data up to:

Compact laser

flash driver printer

(a) 1to3 megabyte (b)2 to 3 megabyte

(c) 3 to 5 megabyte  (d) 6 to 10 megabyte
7 1 GB data is equal to:

(a) 1024 KB (b)“4,/1024 MB

() 1000 KB (d) 1024 Bytes
8 1024 Kb are equal to:

(a) 1 MB (b) 1 GB

() 1TB (d) 1 PB
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